NCL -Written test for the Post of Technician Machinist (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020, SET A
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Section A (Question No. 1 to 70)
1. Knurling is the operation done on which qfei frg A R frar SR g &1 &
machine A)ﬁﬂ'lﬁﬂ'—?ﬂ:[ B)ﬁﬁfi"'[m!ﬁ:f
A) Grinding machine B) Milling Machine | C) %ﬂﬂ'&ﬂ‘[ D) WG [
C) Drill machine D) Lathe machine
2. In which of these process job reciprocates 99 ¥ foo g ufshar H Sl Waﬁ@?ﬁ%
A) Shaping B) Planing A) THR &1 B) W
C) Slotting D) All of the above | C) &fdl ST D) STRIGd Tt
3. In high speed steel the constituents are in ffusTOd i ge® 18:4:1% Grlﬂﬂ'l‘dﬁﬁ?f% Ych
ratio of 18:4:1, constituents are in order meﬁﬁm %
A) Tungsten, Chromium, Vanadium A) TTReH, ﬁﬁmq GEIRRE]
B) Chromium, Vanadium, Tungsten B) ﬁ&nm, éﬁﬁqm R
C) Vanadium, Chromium, Tungsten Q) éﬁﬁm Zﬁﬁlﬂﬂ, R
D) Tungsten, Vanadium, Chromium D) ¢ieH, éﬁ%mq HIeaH
4. Which type of thread is used in lead screw of mmﬂq%ﬁ@@fﬁmw & IS BT U
lathe machine ﬁo_EITGﬂ?ﬂ%
A) Spur thread B) Helical thread A) TR IS B) gfvidTd 98
C) Trapezoidal thread D) Saw tooth thread | C) %ﬁﬁﬁé@ﬂ DK D) FI\TIQH DK
5. | The recommended drill point angle for ﬁ;aaaa?wﬁ%a#%ﬁm G@Tﬁﬁ@aﬁg DI
drilling moulded plastic is T:R?IT%
A) 118 degree B) 130 degree A) 118 f&h B) 130 f&3ft
C) 75 degree D) 100 degree ) 75 f&h D) 100 &t
6. | The radial difference between pitch circle and | fU< g ﬁ@ﬁ%ﬁam R e H Y fpw
tip circle is equal to & SRR BT %‘
A) Module B) 2 X Module A) Hiegd B) 2 X Al
C) 1.157 X Module D) 0.157 X Module | C) 1.157 X Aleqd D) 0.157 X Al&qd
7. Standard value of dedendum is equal to SSTSH B HHD Hd A fPu s /R
A) Addendum A) Te8H
B) 1.157 X Addendum B) 1.157 X UssH
C) 2 X Module C) 2 X Hregd
D) 0.157 X Module D) 0.157 X Hisqd
8. A head marking of 8.8 on a fastener demands | Udh IR UX 8.8 DI g3 AT ford-t a=adT Wfad
a tensile strength of P T HRAT &
A) 800 MPa B) 300 MPa A) 800 THUTY B) 300 THUIT
C) 880 Mpa D) 88 Mpa C) 880 THU D) 88 THUIY
9. Which of the following are true for buttress ﬁaﬁfr@ﬁﬁﬁﬁqma%ﬂ m%mﬂﬁ%
threads? A) T 3R CUSITgSd I T Ao
A) Combination of square and trapezoidal B) % dd e fa=m H 71 T=ma el
threads Q) meﬁﬂﬁmﬁrﬁ%
B) Transmit motion in one direction only D) T Iwifad
C) They are used in vices
D) All of the mentioned
10. | Which of the quick return mechanism is QU T HA: B A fHd e [AfY &1 IuamT
commonly used in shapers fearSmars
A) Bevel gear mechanism A) Sod R fafy
B) Pawl and ratchet mechanism B) e 3R e fafy
C) Worm and worm wheel mechanism Q) aﬁﬁah?aﬁaaﬁaﬁfﬂ
D) Crank and slotted link mechanism D) Fp 3R Wiies foie fafy
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11. | For a given pair of mating gear, arc of contact AT iR & W@%%ﬁﬂ U BT 3T 6 mfﬁ%
is 6mm and a circular pitch is 4 mm. Contact | 3R Ma®R U 4 fonft 81 Tudhs GECITHW
ratio is equal to ISR B
A) 3.20 B) 1.50 C)4.75 D) 6.32 | A)3.20 B) 1.50 C) 4.75 D) 6.32
12. | For checking the diameter of holes, which W%Wﬁﬁﬁ%%ﬁ, g 19 &1 IuanRT fosan
gauge can be used ST gl §
A) Ring Gauge B) Wire gauge A) R T B) AR TS
C) Feeler gauge D) Plug Gauge C) BIeR T D) @ IS
13. | Which of the following micrometre is most mﬁnﬁﬁzﬁﬁmﬁ%ﬁﬁgﬁr@ﬁﬁﬁﬁq
suitable for measuring the thickness of piping | T HAZHIHIC Taq SUYdd ?
A) Tube Micrometer B) Depth Micrometer | A) Eqansﬁﬁa B) ST HTZHIHIC
C) Flange Micrometer D) Micrometer stops | C) RIS HIgh IR D) HIZHhIHICR T
14. | Specification of shaper is determined by Waﬁﬁmﬁaﬁﬁmmﬁuﬁﬁaﬁ
A) Bed Size B) Tool head IR
C) Stroke of ram D) Quick return speed | A) 98 3THR B) QFT%’S'
C) 3 3{rard D) @Rd aruh 71
15. | Self-locking takes place when Waﬁﬂméﬁ?ﬁ% SE
A) Coefficient of friction is equal to or A) Wﬁwmw & TIRWT & TR
greater than the tangent of the helix RIRRESE| G{Wm%
angle B) TYUT ST T[UITeh Rcrad SHI0T & TIRIRT & g o
B) Coefficient of friction is lesser than or WWW@W%
equal to the tangent of the helix angle Q) aﬁmmw%ﬁwaﬂm%wﬂ@ P TR
C) Coefficient of friction is equal to or 71 I 3B AT 8
greater than the tangent of the helix D) Sifad AY P T8I
angle
D) None of the mentioned
16. | Working depth of two mating gear is a1 AT R ot 1 TeRTs IS FU ¥ [Fad
numerically equal to TR B 8
A) Sum of addendum of two gears A) Eﬁﬁﬂ?%Q@ﬂEﬂﬁtﬁ‘T
B) Difference of addendum of two gears B) &l iR & TS 18H &1 3R
C) Difference of dedendum of two gears C) &l fRR & SS78H &7 3[R
D) Sum of dedendum of two gears D) &l iR & SS7&H &1 anT
17. | Angle plate is made of T we FY A fFa T g Eaig
A) Cast steel A) Fafed 3Td
B) spheroidal cast iron B) AR Yafdd agl
C) High speed steel C) f&m geurd
D) Tool steel D) ¢d 2¥UId
18. | 1.5 mm displacement of tool point in boring a‘fﬁnmﬁﬁmﬁg% 1.5 i fama &
operation will result in change in diameter Wwﬁﬁmmqﬁaﬁqm
equal to A) 3 fodt B) 0.75 fort
A) 3 mm B) 0.75 mm C) 1.5 foet D) 1 et
C) 1.5 mm D) 1 mm
19. | The axis of the plate cam blank and the end e $H b 3R fzgﬁra @W G{H@Qﬂm
mill spindle should always remain UHR g1 a1eq
A) Inclined to each other A) W@%W@Eﬂ
B) Parallel to each other B) U Q¥R o AR
C) Opposite to each other @) W@i’% ICLRIG]
D) Vertical and inclined D) @Sl Shvgﬁgé
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20. | Which one of the following statement refers | fGfeRad & ¥ ®H AT B ST detd &I Taid
to contouring control W%
A) This system provides feed control in three | A) Tg WOTE oA 31 7 wis 80 e ol §
axis B) UE YOS ad T WIS 31&f UG Pl §
B) This system provides only one feed axis C) Ig YuTalt DS BIS 3¢ UM el Hal &
C) This system does not provide any feed D) Ig YUl & 3181 | 71l UG dxail g
axis
D) This system provide motion in two axis
21. | A point to point control system is suitable for ﬁl’cj @rﬁgﬁﬁsrmwrr«ﬁﬁm \3171”5@7[ & ferg
which application GTTQ,EH%
A) Milling B) Turning A) farfer B) ef
C) Drilling D) None of the above | C) %ﬁﬂ D) IR H q HIs T8
22. | While machining cast iron coolant should be W%mewmﬁﬁw
A) Dry air B) Soft water HEIEIRY
C) Kerosene D) Machine oil A) &b gdl B) Hg od
Q) figi da D) AR dd
23. | Which taper is used on spindle nose of lathe WG 58 WX DI AH @W?ﬁqw%ﬁ%@ﬂﬂ
head stock ﬁv_EIT\_rﬂ?ﬂ%
A) Pin taper A oA TR
B) Morse taper B) R TR
C) Brown and sharp taper C) §131 3R A TR
D) Pitch taper D) g e
24. | What is the use of indexing head in milling foferT 7=i & SSfRi 8 &1 a1 IuanT §
machine A)ﬂ?ﬁﬁﬂﬁ"ﬁﬂﬂﬂﬁ%f@l’q
A) To reduce the speed of machining B) WW‘?&WW%W
B) To improve surface finish C)fﬁaqammu?%a@'aaﬂ?r%%u
C) To drill holes on pitch circle diameter D) STRIGd Tt
D) All of the above
25. | Carbide tool is better than HSS tool because Wﬁ%‘s’@ﬁ@@@ E@é’éﬂ?% Fifp
A) It is more heat resistant A) Jg i mqﬁ@reﬁ%
B) It has higher tool life B) 39T 3= IUBRV ofla §
C) It can be used at higher cutting speed Q) Wﬁﬁﬁﬂﬁmmﬁ?ﬁl’[wm%
D) All of the above D) SWRIad Tt
26. | In acrank and slotted lever quick return W% 3R TS AR e Re ffy o wrh
mechanism, the distance between the fixed gl & &g P @ 400 ﬁfﬁ%‘ 3R b B ?ﬁﬂ'sg 200
centres is 400 mm and the length of the ﬁl"-:ﬁ%l qﬁﬁﬁ%@ﬁ"ﬁﬁ?ﬁﬂ?ﬁ 2000 ﬁl‘lﬁ% ar
crank is 200 mm. If the length of the slotted WW%H@&TMW & GO Bl S{UId
bar is 2000 mm, what is the Ratio of time of EPIIT@TIT
cutting stroke to time of return stroke. i ——— R’
BY a/2| @ :
/ 90- o2\ %
20- a2/
A)3 B)1.5 €2 D)1.762 | A3 B) 1.5 02 D) 1.762
30f 10
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27. | What is not true about Gang milling %ﬁﬁm%aﬁf{wwﬁ%
A) Two or more cutters are used to perform A) BT B P foIT <1 1 a1 T 3HfYH Hex BT STIANT
operation ﬁv_EIT\_II'IﬂT%
B) Cutters have the same or different diameter B) HeX o gaE a7 i &g Eﬁ?ﬂ %
Q) Eacthutter is mounted on arbor of the milling Q) TS Hex AT O % WWG’%H@HT%
machine IRYeT A :
D) None of the above D) ER aﬁ% TEﬁ
28. | Afixture is used to TP aRTER &1 IUANT fory forg fosan T 3
A) Guide the tool B) Clamp the job A)@WW%W B)ﬁﬁﬂﬁﬂﬁﬁﬂﬂﬁ%ﬁﬂ
B) Guide the tool and clamp the job C)Q‘?TTHEEW @Tﬁlﬁﬁﬂ%ﬁﬁ%ﬁﬂ
C) None DEIERE
29. | The following type of jig is used for TS I 3P Tag R AT & o8 9 ISR &
machining in more than one plane ST 1 U fopaT Srdn %
A)Template jig B) Plate type jig A) THae o B) Wi 213y fomT
C) Open type jig D) Box type jig C) 3N 218y forT D) Siey 218y forT
30. | The following is a quick acting clamp EINIEER] Th aORd FIOIMA FlT %‘
A)Hinged clamp B) Cam operated clamp | A) f@Ts i B) b H TTferd iy
C) Bridge clamp D) Edge clamp C) foret 7l D) TS &iY
31. | The memory which is programmed at the AfagR s TS s ummm el o 8, a8 &
time it is manufactured, is A) IR TUTH B) 3R ShQTI
A)RAM B) ROM Q) Ut 3R 3ff TH D) S U R it TH
C) PROM D) EPROM
32. | In machining metals, chips break due to iﬂ'g’ﬂ?ﬂﬁ'[ff, &1 Il & & HRU
of work material. ﬁl’@[@ﬁ[@f%l
A) Toughness B) Ductility A) geedl B) d=dl
C) Elasticity D) Work hardening @) KIES D) WW
33. | What is the name of control system of CNC in | ST} fRT=z0r Yurmedt &1 714 o1 § fo9H ardfds
which actual position is compared with input @Jﬁaﬁmwmﬁaﬁaﬁ%
value NEESINEARPELI B) gAfe® =0
A)Hydraulic Control B) Pneumatic Control | C) gqf foizror D) R RIS ﬁ@raﬂéaﬁ‘r
C) Servo Control D) None of the above
34. | The failure of chips to pass through the flute HieT B b SR RIC g ﬂ\_rR%f T o 1 fawerarn
during cutting action is called P HIT Bl oldl o
A)built up edge B) chip packing A) fHR g1 B) forg Tfdem
C) chipping D) None of the above | ¢) faftir D) SWRIad § I BIs Tal
35. | Solid milling cutters are manufactured from mﬁﬁiﬂwﬁyﬁﬁmﬁﬁﬁfﬁaﬁ %
A)Carbide B) Stellite A) FEES B) }dIzC
C) HSS D) Ceramic C) TIUHH D) Rt
36. | Which of the following drill machine can drill ﬁgﬁ«l@aﬁﬁaﬁﬂﬁﬁmmﬂ:{waﬂﬁ&—s‘
numbers of workpiece at a time W%ﬂﬁﬂﬁﬁ%
A)Gang drilling machine A)%wmﬂ:{
B) Pillar type drill machine B) fUeR <12y fga O=iA
C) Multi station drill machine @) WW%HW
D)None of the above D) I § § HIs T8l
37. | In an examination 85% students pass in Wqﬁ&ﬂf{' 85% BT 3G H 3R 65% BT TI0rd |
English and 65% pass in Mathematics. If 60 % | U gU| e 60% BT 39 a1 fawal & Il g 8,
students pass both these subjects, then what a’raﬁﬁuﬁfﬁmﬁmwﬂﬁ«r@
percentage of student failed in both subjects | A) 40% B) 35% Q) 15% D) 10%
A)40 % B)35% C)15% D) 10 %
Page 4 of 10

CATION.COM




NCL -Written test for the Post of Technician Machinist (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020, SET A

38. | Last year the population of town was X and if fUsd oy 2eR &t o X o siR afe gg S R
it increases at the same rate, next year it will %aaeﬁ% ar 3rTal 9y Tg v gRT| 2R bt add
be Y. The present population of town is ST /T g
A)(X+Y)/2 B) (XY)"? A) (X+Y)/2 B) (XY)'""?
C) XY/2 D) 2XY/(X+Y) C) XY/2 D) 2XY/(X+Y)
39. | After three successive equal percentage rise Wﬁwmwwmq@Q?WS
in salary, Rs. 100 turned into 140 Rs. and 49 | 100, 140 ¥UY 3fR 49 U H g¢d od &1 I A
paise. What is the percentage rise in salary uﬁmq@w%
A)12% B)11% C)13% D)14% | A) 12% B) 11% C) 13% D) 14%
40. | A Car has two wipers which do not overlap. Wwﬁ?ﬁ?ﬂ?ﬁ%ﬁﬁ 3R Tel B | U
Each wiper has a blade length of 21 cm, Eﬂ%‘ﬂ?ﬁ ﬁgﬁaars‘ 21 @Tﬁ% 120 fett &
sweeping through an angle of 120 degree. W@WW%I uﬁﬂtﬁﬁﬁﬁgmw
What is the total area covered by blade in fosar Do & d fha 8
each sweep A) 824 THP B) 1024 TH
A) 824 cm? B) 1024 cm? C) 536 H D) 924 TP
C) 536 cm’ D) 924 cm®
41. | Acone of height 24 cm and radius of base 6 24 it S 3R 6 Tt WW%@TWQ@F@%‘T
cm is made up of a modelling clay. It is H@IQEFH%I @Wﬁﬁ% THR | dad fedr Sl
reshaped into the form of a sphere. What is %I Tl 1 Bear om grft
the radius of sphere A)6@Tﬁ B) 10 It C)SW D) 12 It
A) 6cm B)10cm C) 8cm D)12cm
42. | Microsoft word is an example of wﬁaﬁWaﬁﬁyﬁﬁMwm%
A) An operating system A) TRfET Rer
B) System software B) ReH TiteddR
C) Application software C) 3TN W dTR
D) Processing device D) TRIRHRUT IUDHUT
43, | Back taper in drill is a f%?[ A 9P TR @& _ %
A) slight decrease in diameter from frontto | A) fi{aaﬁa‘fﬁﬁﬂmﬁﬁtﬂ@ il ah?am?rﬁmqeﬁ
back in the body of the drill A
B) slight decrease in diameter from backto | B) ﬁ;aa:‘lafs‘?ﬁuﬁ@ﬁ@rmﬁﬁ Wmﬁmﬁ[?ﬁ
front in the body of the drill A
C) slight decrease in diameter from frontto | C) fi{ﬂ%%ﬁﬂmﬁﬁ BIEICH R mﬁm&%ﬁ
back in the shank of the drill G|
D) None of the above D)Guﬂaaﬁ@raﬁéﬂé‘r‘
44. | If a number is first decreased by 10 % and then ql? fra H@Tﬁﬁgﬁﬁaﬁ 10% ﬁﬂ%ﬁ—cﬁ% G?IT
increased by 10 %. The number so obtained is | fhR 10% P! IfG Bl &1 VI TS I TBAT F 70
70 less than the original number. The original FH | Jo I T 8
number is A) 700 B) 7050 C) 7000 D) 7900
A) 700 B)7050  C)7000 D) 7900
45. | Atoyisin the form of a cone of radius 3.5 cm W@?ﬁ:ﬂ’:{@ai Y 3.5 YT o1 &1 34 B
mounted on a hemisphere of same radius. The %W&fﬁﬁl‘%ﬁ%l @Fﬁﬁﬁﬁﬁ]’é 15.5 A
total height of toy is 15.5 cm. What is the total | g1 I’ I f4dH &1 $d Idg &%hd 1 8
surface area of toy in cm’ A) 1175  B)4155 Q) 214.5 D) 312.5
A) 117.5 B) 415.5 C)214.5 D)312.5
46. | A papaya tree was planted two years ago. It wuﬁmmﬁgfrwu@ﬁww YTl dg g
grows at the rate of 20 % every year. If at T 20% B X W%I Hﬁaﬁnﬁﬁﬁgﬁ
present height of tree is 540 cm, when it was WT%C 540 @ﬁ% SE S AT 74T AT, 79 S9D!
planted, what was its height Fars & ot
A) 324 cm B)375cm C) 432cmD)324mm | A) 324981 B)375TH  C) 432 91 D) 324 fe
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47. | Tickets 1 to 20 are mixed up and then a ticket fewec 1920 Wﬁlﬂﬁ\_ﬁlﬁ% Gﬁ?ﬁﬂ@ﬁﬁ
is drawn at random. What is the probability W?ﬁiwﬁmw%l ﬁmﬁmz%mﬁ
that ticket drawn has a number which is =T SN 3 7 5 H1 U §, P JHTET T 7
multiple of 3or 5 A) 1/2 B) 2/5 Q) 8/15 D) 9/20
A) 1/2 B) 2/5 C) 8/15 D) 9/20
48. | Two trains running in opposite direction cross fomid fexn & ge aret aﬁéﬁm 27 &S 3R
a man standing on the platform in 27 seconds | 17 mﬁﬁaﬁﬁmﬁéwwﬁaﬁwmé
and 17 seconds respectively and they cross 3R 23 Ybs H TH @3\’ DI UR Bt g | ITB! A
each other in 23 seconds. The ratio of their DI HFUId CuI
speed is A)1:3 B) 2: 3 Q32 D) 3:4
A) 1:3 B) 2:3 C)3:2 D) 3:4
49. | The circumference of a circular ground is 88 W’ﬂ?ﬂéﬁﬂ ST ot gy 88 Iﬁa%l SHH P13
meters. A strip of land, 3 meters wide, inside | Hex Eﬁ@f 3feR B IR 3R S BT gl & Ty
and along the circumference of the ground is | HIY % aﬁwmmél EE ARSI IId
to be levelled. What is the budgeted FifoR Ife THad fpT ST &1 @FTa % 7 Ufd vl
expenditure if the levelling costs is Rs. 7 per ﬁa%
square meter A) 1650 B) 2050 C) 1325 D) 1125
A) 1650 B) 2050 C) 1325 D) 1125
50. | A box contains 6 bottles of variety 1 drink, 3 Wiﬁﬁlﬂﬁ 6 Idd 1 W%ﬂuaﬁ% 3 91dd 2
bottles of variety 2 drink and 4 bottles of W%ﬁﬁﬁ% 3R 4 91dd 3 UPR %aﬁﬁ%‘.l
variety 3 drink. Three bottles of them are ITH 9 o didd aRfed W@ﬁﬂ?ﬂﬁﬂ?ﬁ% ar
drawn at random, what is the probability that Wﬁlﬂﬂ%ﬁ;?ﬁ:ﬁ TS &l UBR Bl A8l
the three are not of the same variety A) 632/713 B) 833/858
A)632/713 B) 833/858 C) 752/833 D) 752/853
C) 752/833 D) 752/853
51. | What is the offset to be given to produce TP ShYC Al H TUR I - o Al o
taper in a tailstock offset method, if the S aTelt 3Thde A g, gfe 981 N 50 et 3R
bigger diameter is 50 mm and the small BieT Ty 40 el §, TR P SIS 100 forft g 3R
diameter is 40 mm, length of taper is 100 mm ﬁ?ﬁﬂé 200 foeft @
and total length of job is 200 mm A) 10 et B) 5 et Q)25 et D) 20 et
A)10mm B)5mm C)2.5mm D)20mm
52. | What is the name of process of producing a flat %ﬁﬁﬂ“ﬁ@?% H’@'W@Tﬁ'%@%%ﬁ QT:FH%E
seat for a bolt head at the opening of drilled e & Ao & ufsar STRTAE 3
hole A) BTICR TR B) BI3cx fRifd
A) Counter boring B) Counter sinking C) JfHT D) Wie BRI
C) Reaming D) Spot facing
53. | A Metric outside Micrometer of range 100-125 Wﬁ%’%maﬁ W%ﬁﬂ 100-125 it 39T &
mm is used to measure the diameter of a rod. TEHIHIER & dTeR U Hifed BT IUTNT fdhaT SiTe
Barrel graduation showed 14.5 and the thimble | g| é}ﬂﬁg@ﬂ 14.5 YT 3R SR ScH AR & 1Y
graduation in line with the barrel datum line TOTeeT ASURM 18 UT| TS BT AT AT Hifo
was 18. What is the diameter of the rod? A) 14.68 Tt B) 14.70 fore
A) 14.68 mm B) 14.70 mm C) 114.68 Toret D) 114.18 foit
C) 114.68 mm D) 114.18 mm
54. | The heat treatment of steel to obtain I BT SHHT IUAR ﬁ'ﬁlﬂ?ﬂ, THTHT, El'cfr 'g"sc
softness, improved machinability, increased a=d, WW@?W 3R TA & MHR
ductility, to relieve internal stresses and to ﬁq&%mﬁaﬁwww%
refine the grain size is called A) Qv'-ﬁﬁ'l"[ B) T
A) Annealing B) Tempering Q) :ITg'@'%"T D) SIS
C) Nitriding D) Hardening
6 of 10
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55. | Which of the following is an example of fofaRad § 3 oF 91 el SIv A9 & IUHR0

indirect angle measuring tool BT Uh 3gleul %

A) Bevel Protractor B) Bevel gauge A)éaachaaa B) 99 7151

B) Combination set D) Marking table C) FaIeH ¥e D) {1 dTfcren
56. | Tool chatter is caused by which of following gaaaﬁaﬁr@aﬁ@r%a%wa—cﬁ%

A) Smaller clearance angle A) BYeT fFaas o

B) High rake angle B) 3T & HIUI

C) Excessive clearance angle C) I TR BT

D) Small rake angle D) BT YD B0

57. | Ultrasonic testing is done in materials to g o TG TRIET FgfaRad o I &

determine ﬁiﬁﬁ?{m%%ﬁmﬁﬁ'{%
A) Cracks below the surface A) Id8 & Hd @WK
B) Yield strength B) 3USI dlchd
C) Hardness C) HART
D) Ultimate tensile strength D) 31d q=dT Xfad
58. | The tool used to cut external thread is TG A€ Pl & 10T AT a1 S aTal SUBRT
A) Tap B) Die BEINIERE R
C) Drill bit D) Reamer A) U B) 1%
) fed fae D) IR
59. | Ravalue of surface refers to Hdg Pl &mnﬁﬁyﬁ@rwm%
A) Type of coating given on surface A) Jdg W P! T3 (90T BT UBR
B) Heat treatment given on surface B) ¥dg WR faran 71 S°H1 IUDR
C) Roughness of surface C) Hdg bl GIU-
D) Hardness of surface D) A8 ! PRl

60. | If one third of one fourth of a number is 15, H‘%WW%W?{W&&WWW 15 % ar
then three-tenth of that number is W‘le?ﬂ?ﬁ:f—aﬂ?ﬁ%ww%

A) 35 B) 45 C) 20 D) 54 A) 35 B) 45 Q) 20 D) 54

61. | Return stroke of the shaper is called which of Wﬁﬁfﬁwmﬁﬁﬁmﬁw%"
the following A) BT B B) it ¥ieh

A) Cutting stroke B) Idle stroke C) Rfas T D) TIfRiTa T
C) Static stroke D) Dynamic stroke

62. | Alis two years older than B who is twice as old A B ﬁiﬁaﬁa@% S C @[Eﬁ'ﬂ-‘ﬂ %’I Hﬁ A, B, C EAl
as C. If the total of ages of A, B, Cis 27, then A 31 27 g 3T I B
how old is the B? A) 10 B) 12 Q) 14 D)8

A) 10 B) 12 C) 14 D) 8

63. | What will be drill size for reaming a 10 mm 10 ﬁtﬁmaﬁﬂﬁwaﬂﬁaﬁmﬁ{aw HTDR AT
hole, if undersize is 0.2 mm and oversize is Eﬁ"T[ e 3@ 0.2 ﬁlﬁf% 3R 3 0.05
0.05 mm foeft 8

A) 9.75mm B) 10.25 mm A) 9.75 Toeft B) 10.25 fiet

C) 9.8mm D) 9.85 mm C) 9.8 faret D) 9.85 foet
64. | An oversized hole will be produced in drilling, if %ﬁﬂﬁ@ WW%@W afg

A) Feed rate is high A) BIg X &m%

B) Cutting speed is low B) bTc P! TIfd HH &

C) Lips of drills are of unequal length C) f&a fereq SR <ams & &

D) Insufficient coolant is used D) 3l Wi 1 ITANT fooar T §

65. | Three times the first of three consecutive odd WWWW%W@ b T - AT
integers is 3 more than twice the third. The WW%@[W@ 3 39 B m@ﬁa?w
third integer is %

A) 11 B) 9 C) 13 D) 15 A) 11 B)9 C) 13 D) 15
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66. | Electrodes for EDM (Electrical Discharge é@ﬁ'@q & ﬁﬂl 3@3@‘6’ (ﬁ'c{ﬂﬁ ﬁﬂ?ﬂ II'QmEFT)
Machining) A) T B) I
A) Iron B) Graphite C) g9Id D) EI|
C) Steel D) Silver
67. | What is the minimum dimension which can AqH 3 FE E Y @ g o GRa TS 4 AT
be measured with telescopic gauge ST gl §
A) 12.7mm B) 10 mm A) 12.7 fodt B) 10 et
B) 8mm D) 150 mm C) 8 foredt D) 150 ot
68. | Which is not correct about Broaching process | Sif<iT Ufdpar & IR A DI 1 HY el el ©
A) It uses a toothed tool A) T8 T GldeR SUDHRUN BT IUINT HRdT &
B) Linear and roraty are two main type of B)W ﬁaﬁﬁww%aﬁn%
broaching C) Ugad JUHRUI Bl S BT oIl §
C) Tool used is called broach D) IWIad ﬁ@raﬁéq"eﬁ'
D) None of the above
69. | Which of the following is abrasive machining fFafafaa & @ o1 T suve aeifr ufsar %
process A) AT B) ?ﬁﬁﬂT
A) Lapping B) Honing C) UTEfET D) SWRIad Tt
C) Grinding D) All of the above
70. | Which of the following is used as abrasives ol & 3 fge Iua muse & &9 7
A) Aluminium oxide fpar ST ©
B) Sand A) TegHitam sfiqss
C) Cubic Boron Nitride B) Xd
D) All of the above C) H[OP IR A3CZS
D) SWRIad I+t
Section B (Question No. 1 to 30)
1. First country to appoint Lokpal or equivalent | TIHUTA IT AHUTA & THHE ﬁqaa & arel ugdl
to a Lokpal is yfofafldd e are
A) Brazil B) Burma A) STolld B) §HT
C) Sweden D) India C) Wred D) HRd
2. | Which country is the largest producer of Rice | d1ad &1 Ha¥ 3(fAH IMIGH o1 AHIRId § B 1 §
A) Brazil B) China A) STTSitet B) I
C) United States D) India C) HgH I D) YRd
3. | The leaning temple of Huma is dedicated to BHI DT DT g3l HfeR forg &g Wia &1 woftd §
which Hindu God A) g B) I1H
A) Shiva B) Rama C) Wl D) §IH™
C) Krishna D) Hanuman
4, The journalist who refused to accept ‘Padma | fSRI T3®R A 'Ta7 Hyur DI WIHR B I STHR
Bhushan’ was = fearyr Fofafldd o g
A) Shekaran Nair B) Khushwant Singh | A) R/ AR B) GRIdd Rig
C) Ratan Thiyam D) Arun Shourie C) YA fw D) 31301
5. Rajya Sabha member has a tenure of RIGUIHT Ha ™ hT PRIBTS fHa Eﬁ?ﬂ %
A) 8 years B) 6 years A) 8 ITd B) 6 Il
C) 4 years D) 2 years C) 4 91d D) 2 9Tl
6. During an emergency all of the following SMuTaeTa (ufd § fAafafaa o fae HaYd
fundamental rights are suspended, except PRI B Bige: I+ Fdfsd s e g
A) Freedom of Association A) I9 BT Waadl
B) Freedom of Speech and Expression B) HTVUT 3R 3if¥cafad Pt Tdaidn
C) Right to Life and Personal Liberty C) Sila 3R G W=l BT SAfIBR
D) Freedom of Assembly without Arms D) BRIR & faH1 GuT P Weiadn
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7. The National Anthem was adopted by the Tfae™ U1 gRI RG] DI B SO T
Constituent Assembly in A) 24 TS 1949
A) 24" May 1949 B) 24 TTdaR 1949
B) 24" November 1949 C) 24 SRt 1950
C) 24" January 1950 D) 24 [ 1950
D) 24" June 1950
8. Who holds the power to increase the number of | FHfIfAd & T HIF Tai= AT o raneiz o)
Judges in the Supreme Court T FgH &1 Xfad I@dT =
A) Prime Minister B) President A) T HAt B)
C) Parliament D) Ministry of Law ) Iue D) T
9. What is the International Date Line GHTT'@T{ fafd a1 n %
A) It is the Equator A) Jg iz[qu g
B) Itis the 0° Longitude B) g 0° SRR &
C) Itis the 90° Longitude C) T8 90° TJMR &
D) Itis the 180° Longitude D) I% 180° GRMeR §
10. | What is the chemical name of common salt YR FHF 1 I es 19 31 ¢, o g7 |1 &
that we eat A) Tifsaq a’rgao"raﬁ"c'
A) Sodium bicarbonate B) YifeTH wiRTSS
B) Sodium chloride C) Aifegy AfRce
C) Sodium salicylate D) QIfSaH BRSNS
D) Sodium hydroxide
11. | The gland in the human body which secretes A4 IR H U S TomsH 3R %‘I’Hﬁ I &1 W1
both enzymes and hormones is A e
A) Liver B) Pancreas A) Ihd B) 3R
C) Salivary gland D) Pituitary gland C) R Uiy D) ﬁ'cﬂ@ﬁ T
12. | Minorities Rights Day is observed in India on | HRd § 3/cUaTd HYBR f&aq & AT SI1dT &
A) 23" December B) 5" September A) 23 fedsR B) 5 fRrdsR
C) 1" December D) 18" December Q) 1 fedsR D) 18 fadsR
13. | Which Indian city has been chosen by the g YR T8r &1 fay % 3 U7 9 3Thg B
World bank for setting up its back-office & foru EGl =
operations A) T8 feeh B) I
A) New Delhi B) Kolkata C) a8 D) TR
C) Chennai D) Bangalore
14. | The largest herbarium of India is located at YR BT oY FS1 Ild TG Hal Ud g
A) Kolkata B) Lucknow A) BIAwTal B) TG
C) Mumbai D) Coimbatore Q) Haé D) IR
15. | Molten rock below the surface of the earth is | Gedt &1 Hdg & -ird fUga _g'g EEEElEERE S|
called CRSIGIE
A) Basalt B) Laccolith A) ST B) AIpIfery
C) Lava D) Magma C) @raT D) &
16. | The Andaman is separated from Nicobar by 3SAM B! FAPITR T 31 HRA aral oid b
which water body Fofafea A d s are
A) 11°channel B) 10° channel A) 11° B) 10° I
C) Palk Strait D) Gulf of Mannar | ¢) gres ®e D) AR &I W@Tal
17. | The Ghatampur Thermal Power Plant recently | Tl &1 f[ Hfge grRI E‘ﬁv_d YICHYR zI'J:i.?‘[ TR Wi
approved by Cabinet is to be setup in P Hel R foar S 8
A) Rajasthan B) Uttar Pradesh A) ISR B) IR ey
C) Karnataka D) Madhya Pradesh | ¢) e D) A& USH
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18. | What is Dakshin Gangotri cférom e Fafeaa & 9 &= %
A) River Valley in Andhra Pradesh A) 3figl U= =7t arct
B) Unmanned Station in Antarctica B) 3fcTdhican! H HMd gd W
C) Second Source of River Ganga C) T A1EY &1 GIRT |
D) Island in the Indian Ocean D) f§g AgEFR H gy
19. | The International Judicial Conference 2020 TRy FHTA 2020 BT GiTEﬁ\_rH 219 -23
was held from 21 — 23" February, 2020 in . 2020 a% fafafad & 9 wel fear ma
A) Tokyo B) New Delhi A) TR B) T8 facett
C) Paris D) Bangalore Q) Uik D) AR
20. | Which city is called the Silver City of India | frd 2rgx & YR &1 Rk R w11 ©
A) Jaipur B) Cuttack A) SIOQR B) b
C) Kolkata D) Madurai C) PIABI D) IIQT{E
21. | Lord Buddha breathe his last at WA g5 - Sifaw aig Fafeied & & forg srrg o ot
A) Rajgir B) Bodh Gaya A) ISR B) Sy T
C) Sarnath D) Kushinagar C) IRy D)
22. | Mahabalipuram was established by which dynasty 'HE'IE‘[%[QRT[ g o9 gRT WU foear T a1
A) Pallava B) Pandya A) Ucld B) Ul
C) Chola D) Chalukya C) A D) TN
23. | The Krishna Raja Sagara Dam (KRS Dam) is | S IS ¥R §i¢ (KRS §7¢)) fob g 7l W Ryq g
built across which river A) T B) TIGTast
A) Krishna B) Godavari C) HEMd! D) BTast
C) Mahanadi D) Kaveri
24. | Where is the Bandipur National Park El'l'cﬁ'ﬂ? TI'@'C[ I Hel =Ud %
A) Rajasthan B) Andhra Pradesh | A) ISR B) iy U
C) Karnataka D) Assam Q) FlcdH D) SIH
25. | National Environmental Engineering RIS yfaRr SS-aReT SrgHe JRIM B8l [Rd §
Research Institute is located at A) B)
A) Pune B) Delhi C) 4es D) AIFTR
C) Mumbai D) Nagpur
26. | Araku Valley is a hill station and valley 3RP g1ct f5a g © fRUT T fgd WA 3R 91t &
region situated in which state ?
A) Kerala B) Andhra Pradesh | A) 3xd B) iy U
C) Karnataka D) Tamil Nadu Q) FlcHh D) dffrerTg
27. | Hampi is a UNESCO World Heritage Site g U W Iy ;R @ g o Fofafad & 9
located in which state P iR
A) Kerala B) Andhra Pradesh | A) 3xd B) 3fiY U
C) Tamil Nadu D) Karnataka C) dAerTg D) FicH
28. | Rajiv is the brother of Atul; Sonia is the sister | JTSd 3fd BT HTS &; T FAId B 98 &; A
of Sunil; Atul is the son of Sonia. How is JQifaT o1 ST g1 Ioig T § ford IR Tefid 82
Rajiv related to Sonia? A) TSl IS B) A
A) Nephew B) Son Q) UTS D) for
C) Brother D) Father
29. | A pole is 90 m long. It is colored in white, Th W™ 90 MR A g1 T8 5:6: 7. & 3{UTd § g,
black and blue in the ratio of 5: 6: 7. Whatis | &7 3R =l &7 & T § | T & T UIT Bt AaTs
the length of the white part of the pole? forait 82
A)30m B)15Sm C€)20m D)25m |A30H  B15d  ©20# D) 25 1
30. | The simple interest accrued on an amount of Rs | 6 TTA & 3fd H 9530 TUYY P AT TR 3ifold TURT
9530 at the end of 6 years is Rs 2850. What is SIS 2850 BT § | TS &2 fdrerd ufcay o’m g2
the rate of interest percent per annum? A) 5 B) 7 Q9 D) 11
A) S B)7 Q) 9 D) 11
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Section A Section B
Question |Correct |Question |Correct |Question |Correct
No. Answer (No. Answer |No. Answer

1 D 36 C 1 C
2 B 37 D 2 B
3 A 38 B 3 A
4 C 39 A 4 B
5 C 40 D 5 B
6 A 41 A 6 C
7 B 42 C 7 C
8 A 43 A 8 C
9 D 44 C 9 D
10 D 45 C 10 B
11 B 46 B 11 B
12 D 47 D 12 D
13 A 48 C 13 C
14 C 49 A 14 A
15 C 50 B 15 D
16 A 51 A 16 B
17 B 52 D 17 B
18 A 53 C 18 B
19 B 54 A 19 B
20 A 55 B 20 B
21 C 56 (o 21 D
22 A 57 A 22 A
23 B 58 B 23 D
24 C 59 C 24 C
25 D 60 D 25 D
26 C 61 B 26 B
27 D 62 A 27 D
28 B 63 A 28 B
29 D 64 D 29 D
30 B 65 D 30 A
31 B 66 B
32 D 67 C
33 C 68 D
34 B 69 D
35 C 70 D
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